S Answers

Theme 7: What Keeps Us Going?
Ch-10: How We Communicate

Main Coursebook

Re-KAP

Kinaesthetic: Accept all relevant responses.

Auditory: letter, envelope, postman, stamp

Pictorial:

market

post office

hospital

Interacting Better

Accept all relevant responses.

Understanding Better (Page 62)

1. The sending and receiving of messages is called
communication.

2. There are two types of communication
— personal communication and mass
communication.

Learning Better

A 1.

L.

c. 2. a. 3. c.
C. 5. Q.

. sounds 2. post office
telephone 4. Mobile phones
education

. In case we want a faster delivery of letters

and parcels, the Speed Post is used.

A fax machine sends or receives documents
electronically via phone wire and then prints
it.

Mobile phone

. When we choose fo communicate with

one person or a few people, it is called
personal communication. Some examples of
personal communicatfion are postal service,

telephone, mobile phone and fax. Mass
communication is when we need to spread a
message or information to a large number of
people af the same time. Some examples of
mass communication are newspapers, radio,
television and magazines.

. The postal service of our country is called the

India Post. A postal service is the system that
sends and receives mail. The mail can be a
letter, card or postcard. These services are
available at a post office. At a post office,
we buy stamps, inland letters, aerogrammes,
postcards and stamped envelopes. We send
letters, postcards and greeting cards to our
friends and relatives by post. In case we want
a faster delivery of letters and parcels, the
Speed Post is used.

We use the Internet to read books, play
games, see photos and watch informative
videos. We also use the Internet to send and
receive emails. An email is a very fast means
of communication.

: Creating Better

A.

1.

3.

Accept all relevant responses.

Thinking Better

Accept all relevant responses. Possible answer: The
telegram was discontinued because new and faster
ways of communicatfion became popular. Telegrams
were slow and costly compared to these modern
methods.

Choosing Better
+ Answer: 2.
Revising Better

Accept all relevant responses.

Students’ Worksheets

Worksheet 1

messages 2. post office
computers u. television
telephone
. frue 2. false 3. frue
. true 5. false
4. and 5.



Worksheet 2

A. 1. caves

L. email

c. 1. false

u. false
Worksheet 3

A. 1. horseback

3. Speed

5. mass
B. 1.and 5.
c. 1. false

u. true

2. personal 3. Message
5. Mass

2. P 3. M

5. M

2. false 3. true

5. false

2. true

2. post office

4. technology

3. false

5. false

3 Book of Holistic Teaching

Developing better

A. English:
1. fomorrow
2. today
B. Maths: Answer: Yes.

C. Science: Accept all relevant responses. Possible
answer: making paper bags, wrapping fragile
items or covering storybooks

Book of Project Ideas

Making better

Accept all relevant responses.



S Answers

Theme-7: What Keeps Us Going?
Ch-11: All About Travel

Main Coursebook

Re-KAP
Kinaesthetic: Accept all relevant responses.
Auditory: metro, bus, car, fruck and bicycle

Pictorial:

_Avutorickshaw Aeroplane

Helicopter

Ship

Interacting better
Accept all relevant responses.
Understanding better (Page 69)
1. land transport
2. an aeroplane

Learning better

A 1. Q. 2. b. 3. Q.
4. b. 5. b.
B. 1. true 2. false 3. false
u. false 5. frue
C. 1. We use an aeroplane to go from one city or

country to another.

2. Some means of water transport are boats,
ships, ferry boats, cargo ships etc.

3. Neha saw a helicopter.

. An aeroplane is a very fast means of
fransport. People use it to go from one city

or country to another. Aeroplanes can carry
many people. They are also used to send
letters and goods. A helicopter carries a few
people. It is often used to take food and
medicines to people in areas, where other
vehicles cannot easily reach. Helicopters
also help rescue people.

2. We should follow some safety rules on the
road:

* Never go out on the road alone. Always
go with an adult.

* Always walk on the footpath. If there is no
footpath, use the service lane of the road.

e Use an overbridge, a subway or zebra
crossing fo get to the other side of
the road.

e Before crossing the road, look to your
right, then fo your left and then right
again. Cross only when you see no vehicle
coming from either side.

e Gear up for bicycle rides. Always wear a
helmet, knee guards and elbow guards
while riding a bicycle. (Accept any two.)

Creating better
Accept all relevant responses.
Thinking better

Accept all relevant responses. Possible answer:
Elephants cannot help us fravel in deserts because
deserts are very hot and elephants need a lof of
water and food to survive. Deserts do not have
enough water or the kind of food elephants eat,
like grass and plants. Also, their big, heavy bodies
are not suited for walking on the soft, sandy ground
for long distances. This is why camels, who are
better adapted to desert life, are used instead.

Choosing better
Answer: 1.
Revising better

Accept all relevant responses.

Students’ Worksheets

Worksheet 1
A. 1. transport
2. special

3. aeroplane



4. Early humans

5. An overbridge, a subway or a zebra crossing

B. 1. L 2. A 3. W

4. L 5. W
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Worksheet 2

A. 1. Trains 2. goods 3. few
u. heavy 5. careful

B. Accept all relevant responses. Possible answers:

car, fruck, bus, scoofter, train

C. 2and .

Worksheet 3

A. 1. cycle 2. forests 3. aeroplane
4. cargo 5. zebra

B. 1. aeroplane 2. helicopter 3. raft

=

. ferry boat 5. service lane
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c. 1. b. 2. C. 3. d.
u e. 5. Q.

Worksheet L4

A. 1. Vehicles 2. Meftro 3. letters
4. water 5. road, either

B. 1. false 2. true 3. true
u. true 5. false

C. 1. VEHICLE 2. FOOTPATH
3. SCOOTER L. STEAMER
5. SUBWAY

Book of Holistic Teaching

Developing better
A. English

1. fast

2. few

B. Maths: Answer: Ria and her parents will leave for
a holiday on 6 April.

C. Science: Answer: A bicycle does not cause air
pollution because it does not run on fuel.

Book of Project Ideas

Making better

Accept all relevant responses.



